Visit our website: www.brainteaseracademy.in .

Taemy
Il

Brain Teaser Academy

We care your Future

f

™ Follow us :Brain Teaser Academy




180

Tﬂ.ﬂLG. .........

![lllllnf.i’f. e

ENTRANCE amm,_,‘.%ﬁ

SCHOOL OF ENGINEERINC
mw.,ﬂmmﬁ‘.:.. —L.}..—,—ngf —wzn—.—ﬂw‘:ﬁ:cu Booklet Series @

Roll No- # m—: ~\U ﬁ\g
\\\\\

Inst didates®
ructions for Can . OmOCnmﬁ._O:_ Booklet and fill up the

Sheet.
d beneath it at the top. While
o copies are aligned properly
ly copied in the Candidate’s

60
70 Minutes

Total Questions
Time Allowed

fthis p2&
OMR Answer

15 CopY glue
ahmﬂ that the ™

h item

1. Write your Roll Number in the space provided at the
necessary information in the spaces provided on the

OMR Answer Sheet has an Original Copy and a Candi
making entries in the Original Copy, candidate should €
so that the entries made in the Onginal Copy against ¢a¢

3%

to be recorded in the Original

Copy.
jons, are
3. W: nzﬁwm in the OMR Answer Sheet, including answers {0 questions,
opy only. :
: the o tions A, B, Cand D and
4. Choose the correct /most appropriste esponsifor S n:nmm_gwua _Mﬂum amawnwoa circle is not correctly
darken the circle of the appropriate response completely. The 10€0 p el
read by the OMR Scanner and no complaint to this effect shall be entertained. g
: i .Inno case
5. Use only blue/black ball point pen to darken the circle of correct/most appropriate response
gel/ink pen or pencil should be used.
6. Do not darken more than one circle of options for any question. A.question with more than one darkened
response shall be considered wrong. .
i : n
7 There will be ‘Negative Marking’ for wrong answers. Each wrong answer will lead to the deductio
of 0.25 marks from the total score of the candidate.
\ 8. Only those candidates who would obtain positive score in Entrance Test Examination shall be eligible
for admission.
9. Do not make any stray mark on the OMR sheet.

all not be permitted inside the examination hall.

10.

Calculators and mobiles sh

be done on the blank sheets provided with the question booklet

11. Rough work, if any, should | S
12. OMR Answer Sheet must be handled carefully and it should not be folded or mutilated in
“will not be evaluated. . . :
13. Ensure that your OMR Answer Sheet has been signed by the Invigilator and the candidate himse!
herself. ) o
inati OMR Answer AT i.wog:ma
tion, hand OVeT the O] Sheet to the invigilator candidate-
b %MWM%H%%NMM%HM%M@% ce of the Candidate and hand over the Candidate’s Copyto b
1 (Tur®
-




v,*
gy does a 100 W electric bulb 4. Cale ulet®
energ

2 hours ?

oV

2V

Transform the Wye network in Fig. 1o a delta (A)

network :

R Ry (D) 5 v

tionis:
a b ~35ﬂdﬂdm :
100 200 5. Source cdure for transforming a voltage
RyZ 400 (A) A P°

source in _UmB:n_ with a resistor to a current
source in nEm:n_ with a resistor
c ®) %nonouﬁo for transforming a voltage
<ource in series with a resistor to a current
source in parallel with a resistor
(C) A procedure for transforming a voltage
source in series with a resistor to a current

(C) Ra= 100 ohm, Rb= 50 ohm, Rc=35 ohm source in series with a resistor

(D) Ra=140 ohm, Rb =40 ohm, Rc =30 ohm (D) A procedure for transforming a voltage
source in parallel with a resistor to a current

source in series with a resistor

(A) Ra=140 ohm, Rb=70 ohm, Re=35chm|
(B) Ra=120 ohm, Rb=60 ohm, Rc=25 ohm

3. Obtain the node voltages in the circuit :

ﬂ 6. Find rms value of current waveform in figure :
|

i) A

1A Q 0 4A

(A) vi=-2V,v2=-10V
(B) vi=-2V,v2=-12V (A) 3309A

©€) 45094
=gV V2=-4VL— D) 44

©) vi=—4V,v2=-10V
(D)

: 3 over
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7.
An electrig Iron draws 2 A at 120 V. Find its 13, To draw a side view, a0 auxiliary vertical plane
_—.df_—ﬂgnn d:
is imagined to be place
(A) 300hm (A) B ficul Six-v‘g
AMa .uc o (B) _un_._ﬁ:&ns_e. to HLP. and parallel to VP.
A M-aw, 50 ohm (C) Perpendicular to V-P. and parallel to H.P.
i 8 Vi _E? il (D) None of the above |
B S 2¢ is measured in : Buttress thread is © __
(A) Watts 4. .ﬂ_ﬁmgrw”“w”omm u ,,_
o 2 |
U e * o |«
AQ Volis _—\. (B) L
(C) 47%°
2. (D) Joules per second i L
9.  When the line intersects horizontal plane, it is @) 45°md T . W
called : 15. One of the uses of the concept of centroid is; asin
3 (A) Horizontal trace the simplification of the loading system the net
. = force acts at the of the loading body.
(B) Vertical trace
+ (C) Trace of a line (A). Centroid /\
(D) None of these (B) The centre axis
5. 10. Isometric dimensioning uses DIM command (C) The comer
with : (D) The base
6. (A) Ot 16. A steel bar of 40 mm x 40 mm square section is
(B) mo:uouﬁ option subjected to an axial compressive load of
7. (C) Boththeabove 200 KN. If the length of the bar is 2 mm and

(D) None of the above E =200 GPa, the elongation of the bar will be :
‘ 1. Ifa block is to be used in another drawing file;  (A) 125m |

the command to save the block is : ®) 270mm
X (A) W_.Mm% (C) 405mm
I e (D) 5.40mm
M AE _S_meﬂ. 17. mﬁwﬁ_ﬁommaﬁau STatio is zero, then it means m
~ 12. When a plane has its surface parallel to VP and that: | __
M g perpendicular to HP. The top view is always a ; (A) The e m
, B (A) Square (B) The material is perfectly plastic ~_““_
_ ,, ; (B) Triangle (©) There is no longitudinal strain in the materi
(C) Polygon (D) The longitudinal strain in the material
(D) Straight line Cal infinite i
| ST-9998-D !
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18. sependent _._3%_._.3.3:?_ ? 32:.:.5‘5 :::n..
) Homogeneous materials (A) __.E%%c s
(B) yViscoelastic _swﬁlpw - O%n_maon (\
©) [sotropic materials e = o ochal? _uoiaﬁ
(D) Anisotropic materials © 1 hail polymer
C
19. A 100mm x5 mm X 5 mm steel bar free to expand (D) Heter® :ced to improve its properties
is heated from 15°C to 40°C. What type of stress 24. Rubberf is .S.n_Omb_
will be developed in the said bar ? ' . :nmmawiw&“
Y
(A) Tensile stress |
(B) Compressive stress () ___
(C) Shear stress (B) Ca?
(D)«Dlostiess: (©) Silica
20. A steel rod 10 mm in diameter and | m long is (D) Alumina
heated from 20°C to 120°C, E = 200 GPa 55 The number of signals and multiplicity of the
and thermal nOanmnnﬂ. of linear nx_u.w_._mmo: ig 57" m.@.ﬁumﬁnm._ _CH, IOEuIZF will be -
12x10 per degree Celsius. If the rod is not free ,
to expand, the thermal stress developed is : (A) 4 signals; singlet (2H), triplet (2H),
(A) 120 MPa (tensile) triplet (3H), sextet (ZH)
(B) 240 MPa (tensile) (B) 3 signals; singlet (2H), quartet (4H),
(C) 120 MPa (compressive) f\ quintet (3H)
(D) Z80MPa (compressive) (©) 4 signals; singlet (2H), triplet (2H),
21. Molecular orbitals are : triplet (3H), quintet (2H)
(A) Monocentric J :
(B) Bicentric (D) 2 signals; octet (2H), triplet (7TH)
(C) ‘Pélyeentric: . \_ 26. Which of the following compounds will exhibit
: (D) None of the above NMR spectroscopy ?
et 22, Bonding in metals have been explained by : (A) C»
2! 6
1 theo
(A) Electron pool theory ®) O
(B) Valence bond theory '
(C) %E%_S.EE@/\ €) S2
(D) All of the above : D) c»
: o1 5 [Tur®
9998-D 0500
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__.wuﬂ. Iy . 3 .
ype of lubrication under conditions of low 32, The energy (E,) of
“n

speed and high load is ¢
FGH :_wrr film or hydrodynamic lubrication
(B) Thin film or boundary lubrication
(C) High pressure lubrication
(D) All of the above
)
28. A good lubricating oil should have !

(A) Highviscosity index
(B) Low viscosity index
(C) High/Low viscosity index
(D) Moderate viscosity index
29, The change in the wavelength (Ap) of a scattered
photon from an electron, such that the recoil
with the

electron makes an angle of zero degrees
horizontal or moves parallel to the incident photon

a harmonie o scillator,

.0 is equal 10

corresponding to n
(A) hw2

v

h
(B) A3

(C) 3hwv
(D) w2

{leisenberg's uncertainty 11:_.."_5_0 states that

33.

the @
(A) Uncertainties in energy and time2 h/2

(B) Uncertaintics in momentum and position

2 hi2
(C) Both (A)and (B)
(D) Noneofthese
34. Electron Volt (€V) is the unit of :

trajectory is :

Mw Hﬁ =0 (A) Power

(C) %Ap MM ”“Ha difference
D) o ot

30. Stefan’s law stale
unit time of black body is propo

A is the area and T is the temperature) :
(A) AT’
(B) AT
(©) AT
(D) AT’

31. The maximum probability of finding the particle

between two limits is:

(A) Zero
(B) Lessthanone but greater than zero

(C) Morethanone
(D) One

ST-9998-D

s that the energy radiated per
rtional to (Givemr 35. The Planck’s

radiation law is given by :

gxhvidv

A by
(A) ekt 1

gxhvidy

—

hv
®) PekT -1

maa%nc

O
hv

1) s

gxhv’dv
(D) -1

6
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(A) .w...% 2x £
(B) lwms a &) qa,iﬂzm;_u&gmﬁnﬁ._mé%
i 1 B) y=(Acoscit + BaineJi) + (Coosdix + i)
i o ©) y=(Acosciit - Bainc /it )(Coosdiot + Daindix)
(D) W cos 2% (D) None of the above
ST-9998-D O@qg (Turnover

etk 5 =

. ..,_:.?ans:w__ cquation

=™ of the
o e
picplawremoved e sltraviolet catastrophein 40. The T
36. wwv._nmm_._-.ﬁow:m faw ? ?5" -~ bl o o n»m_:ﬁ.owﬁv
) Wien's Displacermert b () % . | ciiow)
A of*
(@) Sefan's Radiation % ®) T | cgin(1o8)
* =¥y
() Plancks Radiation L% © e n(logX)
’ +C sl
() Allof these D) © nomcomu& i
. : D) ™ i ethod can e used about a point
37. The solution of the differential equation .4 The ?ow%&
a(pt@ =2is: i e
(p ol :
(A) dx—y,y—a2)=0 -Wuam&ﬁ.u&a
¥ (A= ;
®) $x+y,y+az)=0 “m._mwswnnmﬁmn point
(©) dx-y,y+azn)=0 1
(©) wc._.w O?u and Amg
(D) dx+y,y-22)=0
®) None of thes€

38. The solution of the differential equation
equation X’y +%' % o -0y =0

D +ad)y=0is: 0. ._dn&m.oasma

(A) ccosax+esinax where 2nis 0O1 integral is known as:
(B) c,cosax— c,sin ax &) Hermit’s Equation

(C) (c,+cx)sinax (B) Legendre’s Equation

D) (¢, * c,X) cos ax © Bessel’s Equation

39. The particular integral of the differential equation

eu +4 nu—u\ = cOoS 2% is ¢ au ,ZO_DO OME@ ”6040

43. The most general solution of the wave equation f

|

|
|
,




n

2 WH...- 46. Which of the following statement(s) accurately

44. The partial di ; DR 7
Hferentiol equatis ax? captures the difference in the orgin of Zener
Hﬁmuﬂﬂwﬂﬂ.-lm = Sgog NH_.& }ﬁﬂ.ﬂgﬁfﬁ _Oﬂﬂﬁ.r.ﬂog ]
(A) One dimensionalwaveequation 1) Electric field involved in Avalanche
breakdown is high while clectric field
(B) One dimensional heat equation involved in Zener preakdown is low.
(C) Two dimensio $ 2) Zener breakdown involves 3 narrow
nal wave equation i
U Qh— Qﬂﬂ_—ﬂnﬂﬂ. HOE._O.—.» J?-Eﬁﬂ }4&%0%:“ 6—.&0@05
(D) Two dimensional heat equation involves a thick depletion region:
45. Consider the followi : 3) Ze involvesa thick depletion
owin ner breakdown ;
g statements about direct and ) o ebrekdown e

indirect band gap semiconductors :

1) Indirect band gap semiconductors can be
used in solar cells because carrier
recombination is harder due to the
misalignment between the valence band
maximum and conduction band minimum

2) Directband gap semiconductors can be used

(A) 1),3)and 4) &€ correct
(B) 2)and4)are correct

in solar cells because only energy is required (C) Only 1) is correct

(in the form of photons) to generate electron- (D) Only4)is correct

hole pairs. 47. Considerasilicon diode at room ﬁBﬂﬂ»nE.chﬁ

3) Indirect band gap semiconductors can be uch should the forward voltage increase 10 raise

used in LEDs because carrier recombination the current by a factor of 10?

is harder due to the misalignment betwees (A) 100mV
the valence band maximum and conductiG (B) 26mV

minimurn.

band () 60mV

i iconductors can be used
4) Direct band gap semicondu ®) 07V

in LEDs because carrier recombinationis
easy.
which of the following is correct 7
(A) ._?NVEE"
(8) Only 1) is correct
(C) Only 3) and 4) are correct
(D) Only 1) and 2) are correct

ST-9998-D 8
(0000

48. The ripple Amplitude of

R

Rectifier.
(A) 112
®) 2
(C) 04
D) 0.51

full wave Rectifier is
times the ripple amplitude of half wave



(A) 2mA,0V
(B) 2mA,3.3V
(C) Noneofthese

(D) 0mA, 33V

ST-

9998-D

. Caee ;
= ,....__..__n___.u . field in which one of the
pJT piased in the active mode, thebase current. 52, The r—ﬂ__a_.anu elec” 3
. . 1 . .
e M_“vr»,gn_ the collector currentis 510 pA. The it ._m% ally ipcreases with increasing
,u_e.. of i WY ﬁa:o%:._r ]
¥ A) It! .
@ 03 e crense™” L i oy
st 1 ial re m..o? again increascs
® 0 92 ®) I ma_ra u._mna::.,ﬁ
- neg® Ay gatuf QF.. y .
(€)'03 and 7 o5 linearl¥s then sub-linearly
Wﬂhuﬂnn . - - .
(D) 0965 © & mqma_._&z atiains saturation with increasing
; o g and f
50, Which of the following is correct for an npn 1d . 3
\ ; , . fic Jocity remains unchanged with
transistor to act in Active region ? = ?o&%ﬁ ve
( in field
= ase in
(A) V<V incre following statements about computer
®) Va>V, 53. Consider ™
B~ 'CE :
memo " le of second
(© Veg—Vee <0 p RAMIS® o o
) device and stores data permanently.
(D) Option (B) and (C) are both correct 1 usB Drive is an example of Solid-State
51. Assume the diodes are ideal, calculate the value orage device and iS yolaile 10 DRSS
of 1 and V for the circuit shown below : qm) Herd disk and CD ROM belong to class of
pon-volatile memories.
Which of the above statements is True?

0.000]

. jeclrOns in silicon varies

(A) Only I) is True
() OnlyII)isTrue
(C) Only If)isTrue
(D) All three statements are True
Which of the following statementsis True?
(A) Windows and Linux are the examples of
Application Software
(B) ‘C’ Language belongs to object oricated
programming language category
(C) Compiler converts program Wi
machine code into high level languag®
(D) Microsoft Word and Adcbe PageMaker &=
examples of application softwarc

54,

itten 10



ports is True 7

(A) USB stands for Universal Serial Bus and
supports only single device at a time

(B) VGA connector is s standard connector used
for computer video output

(C) 1
HDMI stands for High Density Magnetic
Interface and allows port to only send very
low resolution videos to other compatible

devices

(D) RJ-45 is not suitable Ethernet netwurking
56 Which of the following belongs 1o class ol
Operating System 7
(A) Mozilla Firefox
(B) Microsoft Word
(C) Adobe PageMaker

7437 (D) Limx

<7, What will be the output of the following C
program ?
it main ()
{
int a0,
=527 : ? i
32:1&... a);
return 0.
!
(A) 3
®) 2
© 1

(D) Non¢ of the above

W hach of the following staternent about .
compater 58 What will be the output ©

program 7
int main )

{

inta=1;

{ the foll

while(a< 10)

{

prin(hetlo”™:

break.
}
return 0;
}
(A w—ﬂ—_h-

(i hello hello

() hello rn:::n:orn:e

(D) hello break
54 What will be the oul

program ?

int main ()

{

put of the fol

int a=35;

do
l

?.55.5,.&:. a),
a=at+s;

if (a>20)
break;

) while (1);

return 0;

(A) 510

(B) 51015

(€) 5101520
(D) Noncof these

s :

(A) rewsm

(B) g0

() geacdl)
(D) man

10
0.000]

Scanned with CamScanner

r—ll.-_ﬁ L

60. TheC language keyword which is used to transfet

control from 8 function back to the calling function
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" = arbITary _..a .......,.__
whete @18 any arbiirar ptsialaln i

. What s the p

B — = M3
_ :

d) Mone

el

ye’s equatio 1

a] equation 18 L

5 Which of the following partial daffere:

2 What is t

" 5 (e - = ,
e R 7 == RX 2
: i . Ay
: | ; 0
\ dz: = £ . any =
Bl iz = TR N2 T = R &Y% 7
2 fis Jx - ia -
: ) ) H) =
gz = a \ o
g) puang 5e + P = R x, ¥4 o |
ey O

d) None of these

3. What is the Lagrange’s auxiliary equation for

22 =07

d) None of thes

4. What is the general solution of the given partial differential equation?

xp+ ¥4

1

=
s

Nl M
L= S 0

Uv S_u MI.,...... = D

s

d) gt s) ="
5 What is the complementary function of the:given gquation?
(DD'+ aD+ pD'+ ab)Z =
a) ml_u.,‘_@ﬁ v o+ mla_..@u y

i el 0 X
mv @._ R Sn. e

Lo

d) None of tlese

p X ny

_6. The solution of the.given equationis————
(D*#+ 3DD'+ 2D7)Z= x+ ¥

#
\. =B B P o o Vi
X fa
| 3 :

b) Z=01 Y+t X * 3 X+ Y
c) Z=xte?®r ¥ * e*Py ¥

o

d) None of these
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1)
u. 0 For the maximum Compton Shi 3 the le would be
. e
by 2
3 ¢) w2
d) 0
10 If the temperature INCreases, then Wien's Displacement Law states
a) That the wavelength ot thermal radiatigns increases
w1 That the wavelength ot hermal radiatigrs decreases
¢). That the wav y of thermal radiatiQps remat 1s the same
N d) None ol the
4]
| 1. According tQ Heisenberg s uncertainty pringiple.
iy a) An electron can reside inside the nuc |euws Ln any state
4 can reside inside the quclens in a stationary state

b} An electron :
G AN alectron cannol reside inside the T |
1} None of the above

12, If we plot the log of power radiated by theblack body versus the log of temperature, the
slope of the ine should be

gl =
bl Infinite

L

¢) Not defined

& 4
\ is related to entropy (S) &8

13— Fhe thermodynamic probability (Q

(K is Boltzmann Constant)

.
-
l‘-J
I
=~
[¥]







Hs )y are

"

d) 4 d

5

brication under conditions of slow speed and b

The type of lu
drodynamic lubrication

ay Thick film or hy
\(i Thin film or houndary lubrication

¢) High-pressure lubrication
a) All the above
24. The type of lubncant used under the conditions .mperature and high pressure i
a) Liquid lubricants
b) Semi-solid lubricants
Solid lubricants
e
IJ.. OV ‘.__..u.....,m.u..L_
26 {s ure preferably us {108
1NSIMISSsIC
ent il dise
7. If the surface contours are { mplicdted then
a) Auxiliary view for each surfacgs drawn single or double
b) Auxthary view is W On S W
27 The top VIEWAs omitted and agXil) viewsis:drawin by transicrril g drmension
d) ary view for each surfage:an be y separately
5, L hook 1s drawn by Wi ofil
a) Il section
b) “section
-y Remaved seclic

3(), The drawing in W

L

gr Revol ed'section

object at an angle 1S

which cuts the

). The secti
a) Removed section
b) Broken out section
oy Auxihary section
d) Assembly section

is called

shing points, the vicey

hich we usc the TWO vani

a)
b) Perpendicular per

L

perspective View
spective view
¢) Angular perspeclive VIEW

P Perspective view

following view we gel the

3| From which ot the




ouble row roller |
1) To ke axial Joad

b) To take radial lo

=) To take heavy

L\... To take

33. Resistivity of a wire depends on
a) Length

44 Material

Cross section area

d} None of the above

34. Kirchhoff's voltage law is based on law-oftonservation of
a) Charge-
berEnergy -

¢) Momentum

g

d) None

- s

35. Two bulbs marked 200 watt-250 volts and <100 watt-250 volts are Joined 1n series to 250

volts supply. Power consumed in circuitis

a) 33 watt
bt 67 watt
¢) 100 watt

a) u______.__ watt—"

36. We have three resistances of values 2 ©,:3€ and 6 Q. Which of the following combination
will give an effective resistance of 4 Q7
a) All the three resistances in parallel
b¥ 2 Q resistance in series with parallel combination of 3 Q and 6 Q resistance
¢) 3 L resistance in series with parallel combination of 2 Q and 6 Q resistance
d) 6 Q resistance in series with parallel combination of 2 Q and 3 Q resistance

37. The ratio of the resistance of a 100 W.220 V lamp to that of a 100 W, 110V lamp will be
nearly
4 4
b) 2
c) 142
d) 14 |

38. The peak value of a sine wave i 200 V.
a) 1274V
B 1414V
c) 100V
d) 200V -

[ts RMS value is

43, The
cor




7 T B
o i

(o

I'he phaxe differenve between voltage and current wave throul

Iy o ehreut slement 1s Ve “

v

0" The essential condition iy that
 Roth waves must have same freguency
Hoth waves must have identical peak values

(1]
Both waves must have zero vilue at the same time

o)
&) None of the ubove

sistance betweeh any

40. Three 3 ohm resistors are connected to form a triangle, What 18 the te

nwo of the corners?
a) 3 ohms

h) A ohms

2 2 ohms

4) 4/3 ohms

41 When a pure semiconductor is heated, its resistance ..

a) Goes up
» Goes down

¢) Remains the same -

d) Can’t say i=.

3 ~—

42. An n-type s cond 18 =
2. yvpe semicon uctor 1s ... T -
a) Positively charged |mm._

b) Negatively chargeds "
or Electrically neutral 1Y)

d) None of the above A._._...q._L

connected in

—
nipiit and output voltages of a transistor

43. The phase difference between the 1
common emitter arrangement IS ..oigee e

S

a) 0° \J

P 180° o

. 0 —

nation c) 90 | -
d) 270 ]

|

0

44. A crystal diode has forward resistance of the order Of . ovvereiinines

a) kil

by N

c) MA

d) None of the above

= |

WWW

45. A zener diode 1S used aS ..veersrenrasess
a) An amplifier *

¥ A voltage regulator

¢) A rectifier :

d) A multivibrator

46. The collector of a transistor {8 v ensaniaes GOPOS

~a) Heavily

_b¥ Moderately

¢) Lightly

d) None of the above




S

, ).2 m he value of p
Inat nsistor lc= 100 mA and lg = 100.2 mA. 1

: 47, In a transistoh

a) 100

b) 30

c) about 1

=2 200

The relation between

_w.y @Il‘m.._._..lo..w
[ o

U.‘._.H._:u (04 1S -

A=
[#.5]

b p=(l-¢ )

o p=a/il =0 )

d) p=/(1 + a)

49 The language of zeToes and ones 15 known as
¥ Machine language
b) Assembly language
¢) Pseudo language
d) Foreign language

Q50, SCSI stands for
a) Serial computer s
b) Synchronous comput
¢) Server computer system interface

4} Small computer system interface

ystem interface
er system integface

decision condition in a flowchart?

_ Which of the following symbols represents the

Ly

a) Ellipse
b) Rectangle
¢y Diamond
d) Armow

2 A collection of four bits is termed as a
a) Word

b) Byte

ey Nibble”

d) Tupple

n

53.Google docs is a class of
a) System software
by Application Softwage
¢) Malware
d) Firmware

54, Which of the following cannot be a variable name 1n C language?

123
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ception

Expression

Recursian .

> the Qutp 3 | o
Put of __._.__r- "...__:f.r._:.. H:r.r, “
-C O CoOcle'

\ copper bar is fixed at b nds, If
both ends. 1 the bar is heated, then the stress developed in the bar

2 Compressive axial stress
3 _r nsile axial Stress

¢) Shear stress

=

e}

L L
N R R i S

r Yield Point
er Yield Point
c) CE.EmE stresse=

d) JRupture point

m
1 .OW

50 ool bar of 30 mm ¥ 30 mm square cross-section 1s subjected to an axial tensile oad of

.,_.,.__..__ _,._/__ f the length of the bar is 2.5 m and E = 250 GPa. the elongation of the bar will be

b) 3.7 mm
& 35 mm T '
d) 3.3 mm

60 Poisson’s ratio is the ratio of -

a) Longitudinal strain to transverse strain
b) Shear strain to longitudinal strain <
o Lateral strain to longitudinal strain

E ransverse strain to shear strain
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Q1) The solution of the differential equation a(p +4q) )
a) ¢(x—yy—az)=" %l
b) ¢p(x+y,y+az)=0 e

¢) plx—y,y+az)=0 .
d) px+y,y—az) =0 o

2 2 i k] n.—‘q

Q2) The solution of the differential equation (D* + a®)y = 0is

a) ¢ cosax + ¢z sinax _ Ql0) 1.
b) cycosax — c; sinax il
¢) (e + ¢x) sinax .
e d) (e, + cyx) cosax o

i Q3) The Particular integral of the differential equation-(D* + 1)y = cos2x 18 &

7 3ot

..\u.u .m.mw:....NH AMH:}ﬂ
b) Immﬁ.:mk ik

c) Iwnom 2x )

d) =cos?2 b)

S cos 2x 0

d)

Q4) The solution of the differential equation (x2D? =xD + 2)y =0 is

a) x(cy cos(logx) — c; sin(logx)) Q12) If
b) x(c, cos(logx) + ¢; sin(logx)) the
c) (c;cos(logx) — c;sin(logx)) a)
d) (c, cos(logx) + c; sin(logx)) b)
c
Q5) The Frobenius method can be used about a point.x = a if aw
a) x = a is a regular point .
b) x = ais anirregular point Ql3) W
c) bothaandb a9y
d) None of these b)
<)
Q6) The differential equation x%y" + xy’ + (x* = n?)y = 0 where 2n is non integral is known as d)

a) Hermit’s Equation
b) Legendre’s Equation
¢) Bessel’s Equation
d) None of the above

Q7) The most general solution of the wave equation is
2) y = (ACoscvkt + BSincvke)(CCos Vi + DSinvk)
b) ¥ = (ACoscVkt + BSincvkt) + (CCos Vkx + DSinvkx)

¢) ¥ = (ACoscvkt — BSincvRr) (CCos Vix + DSinykz)
d) None of the above




S fal S ) O L T aRSTLE
Q8) The _._,:.__,__ Jdilferentinl equation Tl vy represenis
a) one Jimensional wave equation

. k) one dimensional heat equation |
& two dimensional wave equation

4y two dimensional heat equation

Q9) The value of probability of an event cannot be

a) 0

o]

g) 0L

d) Negative {
Q10) If 4 distinguishable particles are arranged in 2 compartments, then the thermodynarmic
probability for the macrostate (3, 1) is
a) 4
b) 6
c) 8
d) 10
Q11) A photon recoils back after striking an electron at rest. What is the change In wavelength of

the photon?

a) 22A

b) 40A

c) 0.0486 A

d) No change
Q12) If the uncertainty in the location of the particle is equal to its De-Broglie wavelength, what 18
the uncertainty with velocity?
a) h

b) v

c) mv
d) None of the above

Q13) Wein’s displacement law is a special case of
a% Planck’s law
b) Newton's law
¢) Kirchhoff's law
: d) None of'the above

U.}.ZEU.
C_ﬁ}mmcamsm MB-distribution of molecular speeds, the most probable speed is given by

2KT
a) =
4kT
by I—
m
kT
c) =
8kT
)=
mm




i | e oscillator 1S
| quantum mechanical harmonic o« cillat
18l I

Q15) Zero-point energy of one-dimensic
a) 0
b) ho
¢) 0.5ho

d) 2ho
rimental results

< Taw ggrees with expe

016) In black body spectrum, the Rayleigh—Jeans Jaw agrees With €XP
a) At low frequencies
Q) At higher frequencies \ ,‘y
¢) Atlow wavelengths
d) None of the above

1 e lawing oXygen species Is:
Q17) The correct sequence of bond order among the following OXyg P

a) 07 >0">0">n
b) 02> 0> 07 >0
¢c) 0> 0> 07 >07"
d) 07>0:>07> Q7
Q18) The compound having pentagonal bipyramidal geometry with two types of bond angle is

a) BrFs

b) CIF;

(o) i i y

d) CIFs J

Q19) A polymer made up of more than one-type of monomer units is termed as

ap Homopolymer
b) Copolymer m : X

¢) Homochain polymer (5 )
&Iﬂmnon:mm:bo_maﬂ.

y

020) Polymer that changes into hard and rigid materials on heating and cannot be reshaped
once it sets is called
a) Thermoplastics

b) Fibres
¢) « Thermosetting plastics- g

d) Elastomers 1
\wt-_

Q21) Which of the following elements will'exhibit NMR spectroscopy?
) e,
b) 03
c) _uﬁm
& mmm&.

Q22) A covalently bonded group that shows a characteristic absorption in the ultraviolet or the visible
region is called as
a) Chromophore
b) Auxochrome
¢) Saturated group
d) Polar group




023) The type ©

Q25) What is the SI unit of electric current?

Q26) A resistor has a resistance of 150 ohms. If ajeurrent of 0.5

Q27) Which of the following statements is true about parallel combin

()28) An electric appliance at unity power fa

Q29) According to Ohm's Law,

load is

{ [ubrication under conditions of slow speed and
Thick film or hydrodynamic lubrication

a)
k) Thin film or boundary lubrication 5
&) High-pressure lubrication
) All the above
[l

A N.GCL lubricant must have

a) High viscosity and low viscosity index

b) Low viscosity and high viscosity index

¢) Moderate viscosity and low viscosity index
d) Moderate viscosity and high viscosity index

a) Volts (V) .v_
b) Watts (W) -

¢) Amperes (A) =

d) Ohms (€2)

amperes flows through it, what is

the voltage across the resistor?
a)75Vv
b) 75 A
c) 300V of
d) 300 A » 4
ation of resistors?

a) The total resistance is the sum of individual resistances.

b) The total resistance is the product of individual resistances.
¢) The total resistance is always smaller than the smallest individual resistance.

d) The total resistance is always larger thanthe largest individual resistance.

ctorconsumes 500 watts of power when connected to a

100-volt source. What is the current flowing through the appliance?

a)5A
b) S0 A
c) 500 A
d)0.5A

the relationship between voltage (V), current (1), and resistance (R)

is given by: {
a) V=IR
b)I=V/R _
c)R=VI/ a
d)V=RI




Q30) Two resistors with resistances of 4 ohms and 6 ohms are connected in series. What is the
total resistance of the combination?
a) 2 ohms
k) 10 ohms
¢) 24 ohms
d) 46 ohms \

g
Q31) Which of the following statements is correct regarding Kirchhoff's Current Law (KCL)?

a) The algebraic sum of currents at any node is zero.

b) The algebraic sum of currents in any closed loop is zero,
¢) The algebraic sum of voltages in any closed 10op is zero.

& The algebraic sum of voltages at any node is zero.

(32) A circuit contains a 12-volt battery, a 1-ohm resistot,-and a 5-ohm resistor connected in
series. What is the total current flowing through the-cireuit?
P2A
b)3 A
c)4A
djs A 5.
Q33) Which of the following statement is False?
a) Complier converts program written in High leveldanguage into Low level language.
b) “C’ Language belongs to class of Structural/pro¢edural language category.
¢) Windows and Linux are the examples of application software.
d) Microsoft Word, Microsoft Excel are examples ofiapplication software. C

T —

()34) Consider the following statements about computer memory:

(I) USB Drive is an example of magnetic memory device and is a volatile memory.
(IT) RAM is an example of primary storage device andris a volatile memory.
(III) Hard disk and CD-ROM are examples of secondary storage devices and belong to class of
non-volatile memories.

Which of the above statements is TRUE?

a) Only lis True :
b) Only II is True S
€) Both Il and III are True

d) All three statements are True

Q35) Which of the following statement about computer ports is True?
a) me stands for Universal Serial Bus and supports only single device at a time.
JA connector is a standard connector used for computer video output.

' & EUZH stands for High Density Magnetic Interface and allows port to only send very low-
resolution videos to other ¢ compatible devices.

(d) RJ-45 is not suitable for Ethernet networking.

. |

)36) Which of the I )
detailed steps &
a) C-Program
p) ER diagram
<) Program Flg
d) Top Down ¢

37y What will be th

Y1)
b)
e} 241
d) None of't
(Q38) What will be
—
| #include <stdio.h>
int main()
i
int a=10;
while(a<1)

{

ﬁ:-ﬂ :Eﬁ._x

return 0;

ajy hello
b) hello
¢) exit
d) None



owing is @ structured programming technique that graphically represents the

ne _.,__,.
ed to solve a .r,Cﬂ.__w:.;ﬂH. ﬁﬂ.:__.._ﬂn_:.._

,_::f:.__...__:__ g,
. 1ot yiled steps requir
e

.v._.:w._.__:

a) L

b) ER diagram P e
/ - S

o), Frogram Flowchart (
4) Top Down design diagram.

( following € program?

y37) What will be the output of the

S

e ——
|

ﬂ ginclude<stdio.h= /

/ int main () |

| |

|
. {nt =0, a=10, b=20 _J

i =azh) T1: 28 _
_ printf wond™, 1) i

return 0 |

[ o

a) 2
b)
¢) 2.1

d) None of the above

Q38) What will be the output of the following € program?

sinclude <stdio.h>

int main()
_ {
| inta=10;

while(a<1)

prin tf(""Hello");
7 break:

ulnﬁ::nu::_:

_ return 0;

a)e hello exit _

b) hello hello exit

¢) exit _ o~
d) None of the above /




Q43) The emitter of a transistor

Q39)

function is:

- - -~ 2 function back to the calling
e & _m:mcmmm keyword which is used to transfer control from a function ba K
a) main
b) goto
¢) getch
d) return 2
. . - +
. T S D s subiected ta a
Q40) The magnitude of the current through a practical PN junction diode, which is subje ?.c =
) % z H a1 ied v age
to increase slowly with the increase in applied voltag 5.@ -
5 e o -t nossible reas { IS non-ides
reverse direction. Which one of the following is the most possible reason for this n
behavior?

low reverse bias, is observed

a) Recombination of the electron-hole pairs in the depletion region.

b) Impact of series resistance . :

¢) High level injection of minority carriers that surpass the background doping concentration.
d) Generation of electron-hole pairs in the depletion region.

.. « A : " ~ 35 735 s b am?
Q41) What can you infer about the semiconductor material from the given E-k diagram?

a) It is a direct bandgap material with effective glectron mass greater than hole mass.

b) Itis a direct bandgap material with effective’électron mass lesser than hole mass.

¢) It is an indirect bandgap material with effective electron mass greater than hole mass.
d) Tt is an indirect bandgap material with effective electron mass lesser than hole mass.

Q42) In the circuit below, V, = 2.02 volts, and the resistor ] =

0.9K€). Assume a cut in voltage
of 0.65 volts for the diode. Current I, is ?

a) 1.82mA
b) 1.37mA
¢) 1.52mA
d) 1.67mA

i8 generally doped the heaviest because it

QAT



Has to dissipate maximum POWer.
) Hasto supply the change carriers.
o) Is the firstIe gion of the transistor
d) Must poSSeSS low resistance.

a)

calling

Q44) In an unbiased p-n junction, the junction current at equilibrium is

a) Dueto diffusion of minority carriers only.
s b) Due to diffusion of majority carriers only
¢) Zero, because aqual and opposite drift and diffusion currents for electrons:

the T .
deal the junction
d) Zero, because no charges cross the junction.

and holes cross

Q45) A device whose characteristics are Very close to that of an ideal voltage source is
a) BIT
b) Resistor

OVZOmmm,._, J
d) 4Zener Diode @

ration.

Q46) A BIT is said to be operating in the saturation region if
a) Both the junctions are reverse biased
junction is forward baised.
se biased

b) Base-emitter junction s reverse biased and base-collector
o) Base emitter junction is forward or junction is ever
d) Both the junctions are forward biased

biased and base-collect

Q47) A maximum rectification efficiency of full wave rectifier is ?

a) 81.2%

b) 0.2%

¢) 82%

d) 90%

e Q48) If a screw thread advances in the nut when turned in 2 clockwise direction, tiscalled 7
a) left hand helix

b) right hand helix

g) clockwise helix

d) anticlockwise helix

Q49) Vice used for carpentry work has ..11\15.39
_ a) Squaré
b) Buttress
¢) Acme
d) Square
Q50) To obtain ﬁﬁm_a_ lines, con entric circles and parallel curves; is used.
a) Array . i
b) Fillet
c) Copy -~
d) Offset

ol :




be

que of 10 kN-m. 1
ywum  diameter

QS1) A solid steel shaft is to transmit
exceed 45 MPa, the 1
a) 92 mm
b) 104 mm
¢) 78 mm
d) 120 mm

ﬁ.pqu:n__ to th
e correct

he cone 15

$2) A cone has its apex on the horizontal plane and the
£the following re

' then which ol spresents L

plane. If the cone is in third quadrant

Cc) L == Y L_.\'.l =

front view of the cone ¢

e —Y

a)

= 160%and 'c' = 1!

Q53) If the angles between the three axes are 'a' = 1007, ‘b’
shown below is drawn in which axonometric projection

a) [sometric .
b) Dimefric
¢) Trimetric
d) Orthographic
Q54) Shear stresses on mutually perpendicular planes are:
a) Zero
b) Equal
¢) Maximum
d) Minimum

Q355) Which of fthe following are functions of bearings?
a) Ensure free rotation of shaft with minimum friction

SI:EZ::;Z%:HQ ncu_:a:
¢) Transmit the force of the shaft to the frame lm\_

d) All of the listed

Q56) Double row roller Bearings is used
a) To take axial load
b) To take radial load ol
¢) To take heavy axial load :
ﬁv To take heavy radial load

Q57) Bolt which consists of only a cylindrical shank thre

he vertical

o _then the cube

aded at both ends is called

Q359) The Cha

Q60)

a) Tough
§) Creep
c) Fatigu
d) Elasti

The pro
a) Maxi
b) Mini
©) Zert
d) Neg




red bolt

RTTATaAL L ,....___/—_».5
i 1o Ly Studsbolt ot Stud
anntersung headed bolt

vatle bar due o s total sell velpht W to that of ko simites b

aihon ..... 0 _,_._. i1
nal weight W attached at ts free end is

059) The Charpy test is conducted to measure

a) Toughness
Qw Creep Strength

o) Fatigue strength (X
d) Elastic strength ot o material

axis 6f symmetry 15:

of & body about 11§

Q60) The product of inerti
a) Maximum
b) Minimum
¢) Zero
d) Negative



